Adding/Subtracting Inte gers

Find each sum.

1) —12) +7 =-12¢7F

13)8-7 =]
15) 11— 4 -_@
17) 18— 41 :i’ 2'3'

19) -1y - =3 =~\+3

—

Evaluate each expression.

21) (-10)—47 =-|0 Y F

23 13+-29) _ 17_29
=[Cle

25) {—32) — 44 - 32-4y
="+

27) 2+ 15 +4

Multiplying Integers

2) (- 1U]I+[—?}|=_|O"?' Find each produoct,

:E@ 1) 6x—4 :-__',2({
4 8+7 =]l
_ 3) 3x—4 =—|2
61 (—45) +9 -4 ’r‘?
=@ 5) sx—a =20

8) (—30) + 10 :‘%ﬂo
-20
swn =—%0
10y 38+ -5 = 3F-S Ty—3xe
-(33

12) (-1 - 10==1-k2
==l 1y -7x5 ==39
14) (-8) = (-6)=-§ +4
=-2
16) 48— (-31) =48 +3/
{79 .
18) (—38)— 302 -38-30 ) TIEXT = 4{

9 —Bx-2= I‘b

=~62
200 (—13— (—40) 17) 9= 1D =&
=-11¥0 = 90xb6

=173
EL1] = %4>
22y =29y - 29 2919 19 7%9%7
=£58] 4.2
24y 38422 :@ Z Yy

26) (—12) +(—11
§) 12+ (1) ~(20)-10)
'-'LEI =

28) 16+ (—13)+ 3
=16-1345 23) §x 38

= 3-!-3- = uxy
=2, =@
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10) 11x12 = |2
12) 9x—-6 =~y

4y 9x2 = |

16) 8x—12 =~}

18) —6= —10x —8
A

20) wx—z
=~ 36(-2)
1-72]

22) 99w —5
[

= 81(-5)
= — 4k
24y T = 5w =5

= E?(—f)

e



Dividing Integers
Find each guotient

1) 35+-5 =~

A —24 + 4 2—‘6
Sy Erd = 2
Ty =217 ==23%

g9 —132:-1 = (2
1) —52+—4 = |3
13 6:a1 =—b

15) 65 +—13 =-5—

17y —188+—-12 = \l{

oy 225 -1y
21) —_120 =5

—-12

Add/Subtracting Fractions and Mixed Numbers

Evaluate each expression.
2) -8B+ 4 =~2_ ] ?--6‘
o e 58 8~ "@ 8 8
)2 = =% 6CF: 2 ”—;,ﬁj
=1y
o 24ss = y ¥ =7
) —24:8 ==% = /’1
.3ji+i=5‘—_+‘_!- 4)1_1
# 6+-6 =-J 4 4 m 6 6
2 %" GCF:2 =3£—:’l
10y —60+—15 = 4 > 5/, =cyb =0
2ol 34 u.7
12) 60+12 = 5 5:'5+5-? 6je.+.5
= tf =1
5 i ¢
14y 75215 = 18 _ _'7,/
T =
| 4 9 3
16 12+ 4 :3 ?j;+;=-'—;_—? SJE_E
=5 3 -3
18) —8+2 == /-—"L 3 1
=%
&
_ I.-' ?- s
a0y =2 =q gLyl 1L -._l:‘_ 1) cD=28 10 1+l—i]
-1 4T TR 2y F o L
28 28 7 _1
qqy 194 :-12. ~37 St -
22) — =3 ‘_-1‘:‘ > =37 T
) '23 -6 ) .
11 4 2 11
11)—+ -— 12) = —| -——
24_]'5'_'] -—_'q . 6 :.._l’,{'_—!. LCO'.6 27 L 7
—15 31 ¢ T.‘. (/* LeD: 3%
2 -2 53 ?—xf
= 7--'-’- 2 Iy
el Gk is
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Find each guotient,

Multiplying/Dividing Fractions and Mixed Numbers

Find each product, 11} —1—% 12) Tl—i
5 Sy -
p-iL w2 »E 1 &7 . 2T
437 yx3 710 Zxig > 7 =¥ ¢ccr=2
:i = m S oe __;6 GCF_._“( =1 leo
l2 Rt “Fo 33 1%
lo '\/g -3 -10 1 8
‘—‘le/zf 13) -+~ 14 T
2 . = 1 g i
3ji1 :Q‘K?— 43_:,1 ._._“2)(‘;) = "—i"-x:z- _7_“‘?
94 qxg 4T (3dd) . o3
= =70 GcF: 2 “20 =2
/((K?‘:?-/ gi?-_-_-%? GCF: Y T T2 = 2y =3 =.2 4
Q 9 LUy R "'5_/ 20 > CeF:2 =) /?_
= 3 15) i—_lz 16) —3=+3
]
3 3 21 LT 4xlot -1 :—3\(%’:‘"—
5 -2.—= :-_9_-_.__ 6] —2— 4— =" 3 . | — e q 3
7 | =2 310 3 5 2 32
_C2)5) = 612 od Y A
1) 3 3 ro 32
(()z) = >z
=|-6 =-&. w = 1
> 3 3 17) —2+ -3~ 18) S+l
S 3)011) - "328 e x5ty :—’_:.(-.___-’D 3
72l 2 8 -11.9 W _ " 19 9\ 3 36 éar=g
5 4 = 2-“' 5—"‘ =_1. "-_2 -
= _ Gl ? 9. 3 :J/
=_¥ —
L. 4 9 ._, q =y
?q‘? -45 19) 1252 20) -3+ 21
= 5.9 777 (o430
- 4 y = <l +6 . Sx4+3 :—-L_,:_ __"_zf_i‘_l“__-
9 R 10 A - : y lo 4
7 2 g8 2 - 32 9
:Jﬁ;_}__?_ Tl ¢ 4
+ 'y 22
— = ~ 3%
=%_§ .% ._/, /4! = ‘-l_o "%‘i‘
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Order of Operations

D
Evaluate each expression. 13) 94+ 62 (8= 2) 14) 442 +4)
1) (30— 3)+3 2) 21-5)+8 = 9LbtL :q(z_,,(o
=2%F+3 =16+¥ _ A+ =4)
15) 6+ (5 +8)x 4 16) 6% 6— (7 +5)
H1+7 = (449 4) Sx4-8 = 6+(R)Y - 36*(12)
_ =0 —3 =6+52 <362
=50 =
-~ =12 - [%3] =2y
17) (9% 2)+(2+1) 18) 2—(4+3-6)
5) B+ 6x9 :f'!"’ﬂ( 6) 3+17 %5 1‘-('?)".'('3) :-.-2-([)
42 = 3+ 87 =( 4] -1
=88
19) 7% 7— (8- 2) 20) 9-7- 66
Ty T+ 1211 -_:.7-1-]3‘ 8) 15 +40 <20 :(f‘?"(@ :",2_1
= 2 = qg =
:;l [+
£ EY
21) (4-1+8£8)x 5 22) (10% 2) £ (1+1)
9) 20+ 16— 15 10) 19— 15— 3 -‘-‘-(Ll"‘ﬂ) x5 1(20)"‘(2)
=345 = (-3 =(4Xs)

=(I

11y 9= (3+3+6 12y (9+18—-31+8 23 Tx9-7-3x5 24y B-1-(lE-2)+ 8

= Uxle)Ls6 =(29+7 = 63-7-17 - 9-1-(l0)<3

~bysh -(3] =W - §1-2
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Date

Evaluating Variable Expressions
14y bia+by+a;usea=9 and b=4

Evaluate each wsing the values given. 13) zy+4yuse y=5 and z=2
2) B(x—¥husex=5and y=12 ‘(,'2)('2_)4"{ (5) = Q(q‘!“l){'q
= o 4 2o = 39

=(8)-% =8(‘>‘)~2)
= Ol — =9 = =51+9

1) n =g use m=7, and n=8

_ =2
- ;?- L( 15) p1+4—m:u9em=3. and p=4 16} .1‘[_‘|'+3]1'.LLS.EI=4. and y=19
3 owtZusex=7 and y=2 4 m—n+4:usem=_5_.andn=3 = qq'_:_q_—g :Lf(qis)?’
=Q)P=2 = b-8+y =6+ -3 = §(N*
= =2 =5-2 =¢-3 =409
_E "'-', "3(:
- 170 4+ m+n—muse m=4, and n=19 18y gr+g— puse p=7, and g= 3

S)x—y+éuser=>6and y=1 6) z+r:usex=1 and z= 19 = q-]-\tk-q Ai = (3)(?’) +(3) -C?)
v - 21437

= b=tk =[Q+() .
=7

=] = Q¢
19) mn<6 + 10 use m=7, and n= 6 200 h+ j(f—Ruse h=2, and j=6

7) v+ ruse x=15 and y=8 8) g6+ puse p=10,mdg=12 = (?)(6)-’-6 t to = 2t 6(6 "2)
-84 8017 = [2:6+P i P - 2t60Y)
= 8+ (20 =t tto =3/ Tty
: = 21y (b— 1) +ausea=6, and b= 1 -.22) Vix—(9—4¥)) use x=4, and y=2
9) x+8—y:use x=20,and y=17 10) 15— (m+ p); use m=3, and p =10 =(f"|‘)1+61- = ,2[4-{‘?—4-2}
ji‘;‘j?:'?‘ =15-(3 19 - 0416 = 2[4~(9-9]
{1 ==”7'_'(”’) = 0136 =2[4-[]
7 = 36 = 20)

11) 10-x+y+2;use x= 5, and y=2 12) p—2+qp use p=7, and g=4 23) x_[x_['x_y!']]-_us,”:g.m_v:1 24 ju‘z—?fjrz:useh=9. and j=8
= ?(q D12

=lo-9+2+1 =7-2+4(3) —_;C}..(q._(q_,’))

= 0-9+ I = #2242y
-~ G4 - 5+29 =2‘((q”(g)) “-?42'
- 6 =g = -(¢ -

2 Z & 7
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Proportion Word Problems

Date

Arswer each guestion and round your answer to the nearest whole number.

1) If you can buy onz can of pinzapple chunks
for $2 then how many can you buy with
$1u’?__":"\

+2 810
| x

&=J

3) One cantaloupe costs 2. How many
cantalowes can you buy for $67

EVimt!
| X

5) Shawna reduced the size of a rectangle toa
height of 2 in. What is the new width if it
was ortgiga]ly 24 in wide and 12 in tall?

2y X

l?..__'_j KN
TP I meeo
X=Wb widthis ¥
=4,

77 Jasmine koupht 32 kiwi fruit for $16. How
many fwiban Lisa buy if she has §47

Bl 3y
32_;(

SN

-

Y ..Shc@n
x=13l_9 - buy 8

9) One bunch of seadlees black grapes costs
$2. How many bunches can vou buy for

s2m w\o
—

R 3%

2) One jar of crushed ginger costs $2. How
many jarsfan yau buy for $47
P2 — 84
) X

=

4) One package of blueberries costs $3. How
many packages of blueberrizs can you buy
for $9-?_!:

$3
|

=J |

6) Ming was planning a trip to Western Samoa.
Before going, she did some reszarch and
learnad that the exchange rate is 6 Tala for
$2. How many Tala would she pet if she
exchanged 367

$27_ 3%
61 X .Sl canget

i.%
X=17 } 1 TQ'q

8) If you can buy four bulbs of elephant garlic

for $& then how many can vou buy with
3321 XY

33 _ 832
G Loty
a.l{ [b
)L:U:L{‘
10) The mondynsed in Jordan s called the

Dinar. The exchange rate is 33 to 2 Dinars.
Find how many dollars vou would receive if
you excgq?ged 22 Dinars.,

—

33 >
'?--._./22'
=1

X= ?J(”) waﬂ‘_

- 33 'SZCD\'AD:_{

Period_

11) Gabriella bought threz cantaloupes for $7.
ny cantaloupes can Shayna buy if
she has 3217

7 sy
3__~x
=3 < Sheya wen
)(.:3(3) J‘!\‘-j‘;
=9

13) Castel bought four bunches of fennel for $9.
How many bunches of fennel can Mofor buy

= X 2 Moforcen
Y% T TLuys
X =4
=9

12} Jenny was planning a trip to the Unitzd Arab
Emirates. Before poing, she did some
research and learned that the exchange rat
is 4 Dirhams for everv §1. How many
Dirhams wegrid she get if she exchanged $57

$17 5

Y __ x -',Jenv cmda‘/“ 20 Doy

~1

X=¢(7)

= 20

14y If vou can buy one fruit basket for $30 then
how many c!m?_rau buy with $607

$3o": 360

—

X= I(?-)
=2

Arswer each guestion. Round your answer to the nearest tenth. Round dollar amounis to the nearest cent,

15) Asanji took a trip to Mexico, Upon leaving
he decided to convert all of his Pesos back
into dollars. How many dollars did he
recaive if he exchanged 427 Pesos at a rate
of $5.30 = 11.1 Pesos?

353 X

—— m ——

M1 - ar#
53 )=l

cross X
x=20.9

< Hell ged
2262 = ks )70 g
el 440

17) My reduced the size of a painting to a
width of 3.3 in. What is the new height if it
was originally 32.5 in tall and 42.9 in wide?

(U
9 = 33
32.5(3.3)=429(x)

|0F. 2% = 429>

TSI LR (e

Vv =25 Mj“ is 2V

APPENDIX C: COURSE INTRO HOMEWORK HANDOUTS

16) The currency in Argentina is the Peso. The
exchange rate is approximately $3 = 1 Peso.
At this rate, how many Pesos would you get

if you exchanged $121.107

$20,302l10
TEZ
3x =\l
3 3
X 4ak

I

g 3:4- plo.yo

18) Molly bought two heads of cabbage for
$1.80. How many heads of cabbage can

Willie buy if he has $28.80

?

TR L

2

X

|.fx= 2(23-‘3)
£ 'n.iﬁ

NEET
¥z 22

.’ .Mofb m'lJ’"" B headiof
ey



Proportions

State if each pair of ratios forms a proportion. ""L
g -
,—-\

20 3 18

I} — and — 2y — and —

2 & 2 3
— ~—~
x7 ®Yy

no no
Y wL
—_ —_

4 1& 4 3

B — and — 4) — and —

12 o B
xLI %1
Nes Ve
X +33

12 3 & 2

5) — and — &) — and —

24 4 9 3
1y +3
Nes (8

Solve each proportion,

10 1o

7) —X- 8) —Y—

K 4 7™ 3
3k=Yo Bm=(e=2
¥ ¢ J 3
= iz

3

2y 7 I\ 7

9) —K— 10} = X—

r 9 x/ 10
18 = ¢
* ¥

=3
x= %L
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a &
14 —=2
9 5
3 ;
16) —=—
13 3
o 11
1o 14
a2
S 14w



Markup, Discount, and Tax (Harder)

Find the selling price of each item.

17 Cost of shoes: $29.95
Markup: 20%
Tax: 2%

9995« 12 % = $37.49¢
25,02 7. = $3b, b4

3) Cost of a goldfish: $3.45
Markup: 29%
Tax: 2%

2.y5 x(129%) = 4.Us05
§.osx(1017) = $4.5Y

5) Cost of a shirt; $14.95
Markup: 25%
Dhiscount: 45%

1495 x (125 7.) - 18,6335
136935 % (55%4) = 10.2%

S 3108

71 Cost of a puppy: $349.99
Markup: 41%
Discount: 23%

$349.99 « (1y17%) =$493.4859
$493.4859x (F¥%) 233729

- $379%

Dhate

9) Original price of a microphone: $20.00
Discount: 42%
Tax: 6%

2) Cost of a microscope: $269.95
Markup: 43%
Tax: 5%

26995 X (1y37%) = $386017
196.02¢5 x(105%.) = $405.33

11} Original price of a lizard: $39.99

4) Cost of shoes: $99.99 Discount: 40%
Markup: 9% Tax: 6%
Tax: 4% .
49.99 x(loar.)= (92.989| 3999 x(bo) - 23,99y
(08.9¢41 <(147) $1133% 23994 (06 7.)= $25.43
BRI SO X

131 Cost of a hat: $10.50
Markup: 10%
Discount: 4050

&) Cost of a CD: $23.50
Markup: 63%
Discount: 50%

2150 (163%) =¥ 39307
39.%95 =~ (9'_0'/.)4_ $9.15
EE ALY

Tax: 5%

$loso(1104) = $11.55

$ll.s5 (b07%)= $693

$6.93 (losn)z $7.23
%729

8) Cost of an oil change: $19.95
Markup: B5% Markup: 40%
Discount: 485% Discount: 55%

$19.95 x (185 %)= $3b. 075 Tax: 1%

15) Cost of a computer game: $4.99

. 21919 3499 « (140 % )= $6.9%%
#3697 (= 11 46986« (457-) = 3343 $y2. 725 x(F07) - 29 F 6

42.143Fx (1017,) 2$3.18

J.o$1999

APPENDIX C: COURSE INTRO HOMEWORK HANDOUTS -8-

10y Original price of a jacket: $269.50
Discount: 24%
Tax: 6%

12} Original price of a microphone: $49.99
Discount: 5%
Tax: 5%

19.99x(957%) - . va0s™
i qos x(losw) = $49-3¢

o $49.87

14} Cost of a pen: $1.95
Markup: 70%
Discount; 40%
Tax: 5%

§185x (1707.) = $3.35
43315 x (60%)=$1-989
$ 1989 (lo57)= $2.99

o 4209

163 Cost of a hat: $31.50
Markup: 35%
Discount: 30%

Tax: 1%

$31.50x (135%)= 2.5 2r

29. 675 (1017) 2 §30.0F



Fractions., Decimals, and Percents

Write each as a decimal. Rownd to the thonsandiths place.

1) 90% = ‘?_go: 0900

3 l&.g%

=159

517% - 0,030

e 2003

2y 30% =0 %00

4) 9% = 0,090

&) 65% — O 63—0

B) 445% :0.[/((1_

Write each as a percent. Round to the nearest tenth of a pe rcent.

9 o452 _ |5, 2 7,

-

11) 0.002 =(OQ /,g

13 478 = 47'8 r/.o

-

15y 363 = 363 r/n

Y

Worite each as a fraction.
17 25%
29

|
(oo Y

10} 0.006
0b7

12) 005

57

14) 0.1,
0%

16) 0,03
3%

18y 70

70 _ 7

—_—

19) 93% = q_é 20) 58% = 5% =Z~Q

21 s0% — 29 _

22) e6.8% 6. F 133,

I
o
| (oo 1
23) 20% =_2_O_ :-—|' 24y B0
loo S _g
o® 5
25) T1% = 7l 26) 30%
(00 3k _ 3
o2 e
Write each as a percent. Use repeating decimals when necessary.
2?:'% = 095 =507 28) é: 0.2y =125/
2 ra LY f
29)?206"6("6A ml—énﬁzz

v CHEA = 5257

(o ’ r

33)11—0 - — =l0/- 34}—-.-(3'7'1
leo
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